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A\ cm  sec - 60 0.226
100 0.361 150 0.400 400 0.833
R cm  ( R R R )
60 11.4 100 14.3 150 16.3 400 20
N RPM -1900
M g cm sec - 20 0.01
g cm .sec >=<0.01
H cm -60 4.75 100 6.5
150 7.5 400 9.5
Q cm3 sec -60 333(20L/min)100 833(50L/min)
150 1333 80L/min 400 3333(200L/min)
\'% cm3 -60 7000 100 15000

150 25000 400 38000



=2
:nlPa sl 1[P]=0.1[Pa ¢]

1Pa s=1kg/im s=1N s/m2=1000cP =10 Poise g cm sec
20 0.01g cm sec
1.0038
60 Ve Q H V 333%4.75 7000 0.226(cm/sec)
100 Ve Q H V 833%6.5 15000 0.361(cm/sec)
150 Ve Q H V 1333x7.5 25000 0.400(cm/sec)
100 Ve Q H V 3333x%<9.5 38000 0.833(cm/sec)
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